
466 Diesel 4X4 Utility Vehicle S/N 1B017G & Before Page 1 of 28
Axles and Steering

www.mymowerparts.com

For  Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983Cub Cadet Parts Manual For Model 466 Diesel 4x4 Sn 1b017g And Before
Full download: http://manualplace.com/download/cub-cadet-parts-manual-for-model-466-diesel-4x4-sn-1b017g-and-before/

This is the cut pages sample. Download all 28 page(s) at: ManualPlace.com

http://manualplace.com/product/cub-cadet-parts-manual-for-model-466-diesel-4x4-sn-1b017g-and-before/


466 Diesel 4X4 Utility Vehicle S/N 1B017G & Before Page 2 of 28
Axles and Steering

Ref # Part Number Qty DescriptionS/P/F
1 607-04163 Cont Assembly, lwr, r/rr1 S
2 607-04162 Cont Assembly, rr Upr1 S
3 607-04169 Cont Assembly, lwr, l/rr1 S
4 611-04063A Axle Assembly, cv Joint, 4X41 S
4 759-04173 Ring, Hog  not shown1
4 731-05082 Boot, CV, Differential  not shown1
4 731-05083 Boot, CV, Wheel  not shown1
5 618-04236 Diff Assembly, 4x4 Uv, Complete1 S
5 921-04005 Seal, Axle Shaft  not shown1 /P
5 721-0212 Seal, Diff Lock Actuator Shaft .375 ID  not 

shown
1

5 721-04143 Seal, Input Shaft 1.0 x 62mm x .375  not 
shown

1

6 619-04125A Hsg, rr 4x4, mach1
7 707-04436 Disc, brake, 8.00x.1881 S
8 707-04655 Mt, sway Bar1 S
9 707-04603A Mt, rear/diff, 4x41 S
9 707-04604 Mt,front/diff,4x41 S

10 710-0852 Stud, rib Neck, 7/16-14 X 1.61 /P
11 710-0433 Screw, 1/4-20, .625, gr5, lock1 /P
12 710-0489 Screw, 1/2-13, 2.00, gr5,1
13 710-3144 Screw, 3/8-16, 2.00, gr5,1 /P
14 710-0521 Screw, 3/8-16, 3.00, gr8,1 /P
15 710-0607 Scr, tt, 5/16-18, 0.500,1 /P
16 710-0411 Screw, 3/8-16, 4.00, gr5,1 /P
17 710-0216 Screw, 3/8-16, .75, gr5,1 /P
18 710-0157 Screw, 5/16-24, .75, gr5,1 /P
19 710-3206A Screw, m8-1.25, 25.00, std1 /P
20 712-04109 Nut, slotted, 22x1.51
21 712-04065 Nut, flglk, 3/8-16, grf, nylon1 /P
22 712-3083 Nut, hexlk, 1/2-13, grb,1 /P
23 712-04063 Nut, flglk, 5/16-18, grf,1 /P
24 714-0162 Pin, cot, 5/32, 1.251 /P
25 716-04055 Ring, ret, dho-601
26 718-04188 Hub, Wheel, 4x41 S
27 731-05352 Bush, sway Bar1
28 732-04221 Shabs, 5.12 Stroke, rr, 4x41 S
29 736-0291 Wash, flat, .88 X 1.38 X1 S
30 710-04164 Screw, hex. 1/4-20x.62 Gr81 /P
31 741-1142 Brg, flg, .625 X .750 X1 S
32 741-04166 Brg, dble Row, 60x30x371
33 747-04514 Rod, cont, .375x3.8861
34 750-04358A Tube, pivot, rr/cont Arm1 S
35 750-04487 Bar, sway, rr, 4x41 S
36 736-0452 Washer, Bell, .398 x 1.14 x .0951 S
37 761-04019 Brake, hyd, caliper, frt1 S
37 759-04116 Brake Pad Kit  (not shown)  Services one 

caliper
1 S

38 607-04145 Cont Assembly,r/frt,lwr1 S
39 607-04148 Arm Assembly,r/frt,upr1
40 607-04152 Cont Assembly,l/ftr,lwr  not shown1 Swww.mymowerparts.com

For  Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983Cub Cadet Parts Manual For Model 466 Diesel 4x4 Sn 1b017g And Before
Full download: http://manualplace.com/download/cub-cadet-parts-manual-for-model-466-diesel-4x4-sn-1b017g-and-before/

This is the cut pages sample. Download all 28 page(s) at: ManualPlace.com

http://manualplace.com/product/cub-cadet-parts-manual-for-model-466-diesel-4x4-sn-1b017g-and-before/

